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1.    In 26 ÷ 1, the quotient will be ____.  

(a)  0           (b) 1                (c) 26 

2.    The symbol of division is known as ____.   
(a)  plus       (b) obelus             (c) minus  

3.    Division is repeated _______.  

(a)  subtraction       (b) addition      (c) multiplication   
4.   If divisor is 7, dividend is 42 and quotient is 6. The  

division fact will be ____.                                           

(a)  7 ÷42 =6        (b) 42÷7 = 6 (c) 6÷ 7 =42  

5.    Write the terms of division fact 40 ÷ 8 = 5  

         Divisor - ___   Quotient- ____ Dividend - ____   

6.    Compare by using </>/=   

(a) 54 ÷ 6 ___ 54 ÷ 9  

(b) 64 ÷ 8 ___ 40 ÷ 5  

(c) 7 × 4 __ 28 ÷ 4  

7.   Rahul’s mom bought 25 mangoes and distributed them equally among 5 family 

members. How many did each member get?    

8.    Fill in the blanks with multiplication and division facts.   

  

Multiplication facts  Division facts   

7 × 4 = ___  ___ ÷ 7 = ___  

28 ÷ 4 = ___  

5 × ___ = 35  __ ÷ 5 = ___  

35 ÷ ___ = 5  

9.    (a) Solve 45 ÷ 9 by long division method  

(b) Find quotient by repeated subtraction: 24 ÷ 6  

                                                                       Case Study   
  



   

 

10.  

  

Kahi and Sonal went to a flower shop. They purchased a bouquet of flowers. Divide and find how 

much each one will have to pay.  

 

 

 

 

 

 

  

Q(a) . Sonal purchased a bouquet of 8 Lilies for ₹72. What is the cost of one 
Lily?   
Q(b).Mahi purchased a bouquet of 6 Tulips for ₹48. What is  the cost of one 
Tulip?                                                                          
Q(c. Which flower is cheaper among the both?   
   


